15. If 3x+ 5y + 72 =49and 9x + 8y + 21z = 126, %hen what

|sthevalue of y? X3
= 49 FUT(Ox ) 8y +212)= 126 §, @ y &I AW

)4 ’ b)zsx A s
2xO-D

T4 = u7-124= Q|
J=3




{6,If3x+4y—Zz+9=17gzx+2y+11z+8—2 d5x + 9y +
6z — 4 = 18, then whatisthevalueof x + y+2z — 3

afE 3x +4y ~2z+9=17, 7x+wy+1lz+8—233ﬁT5x+9y+

sz—4 4=18%¢, Eﬁ|x+}_1+z,—34 FT AT FaT $2

a) -28 b) -24 ;}3’/-31 d) -45

O+® >

/‘KCL*H-I-Z):/\*S/B




7. Cost of 4 pens, 6 note books and 9 files is Rs.305. Cost of three pens, 4
notebooks and 2 files is Rs.145. What is the cost (in Rs) of 5 pens, 8
notebooks and 16 files?

4 FAHA, 6 dAlcdF TUAT 9 BIBA F Hed 305 T §| 3 FodA, 4
aﬁmamzmgaraﬂa—zrmsx%wm 8 AleqgF U 16
mmﬂ(xﬁm%)’?

a) 415 /b’f465 c) 440 d) Cannot be determined
AX (LfPﬂ—én + = 205 )
-( BP Tln -\—‘2:§= S )

SP %0 HEL - 8105y ¢ s




|8. Cost of 8 pencils, 5 pens and 3 erasers is Rs111. Cost of 9 pencils, 6
pens and 5 erasers is Rs130. Cost of 16 pencils, 11 pens and 3 erasers is
Rs221. What is the cost oL 9 pencils, 26 pens and 13 erasers?)

8 4TAeT, 5 Tl TUT 3 @3 #1 Hed 111 TaF ¢ 9 A, 6
FH aUT 5 @3 F1 o7 130 ¥ 16 4w, 11 Faw aur 3 W3
au-r:n—zr221 T ¥ 39 A, 26 FoH U 13 @3 & 7T

a) 316 /,«f/)/546 c) 624 d) 482
Bp-\'SFn +3e =1|]
4 9p 16 «Se =130
6P+ W an +3e = 221
3y(3T P2 = 46T wzz)

—

546




1. |fx+3y—%=6,x+§(2y+3z) =33and§(x+y+z)+2z=9,
then what is the value of 46x + 131y?
A x+3y-Z=6x+2(2y+32) =333 (x+y+2)+

2z =9 &, a 46x + 131y &T AT F4AT g7
%14 ~ b) 364 ¢) 384 d) 464

Q\x ( »?11-65-2'; 12 >
+ 3’)(_-\-\4\34-62;%
+ Tx % H5z=43
%7(-&\3\3, = Wiy




20. In a room, there are some children

no. 0{ bontnpb= X and some benches. If 5 children sit
on each, 2 children will have no

bench to sit on. If 6 Children sit on

— - each bench, then one bench remains

511— Q - 6<’X ') unoccupied. What is the sum of the
number of children and the number

& =X of benches?
T FAY A Fo T=d AN Fo 5T g
5o IR gdF ST 9 5 T= d3q T, Y 2
UM’O\YeM:vn_ Teal & o & AT FE T TQ 2N
YdF a4 U 6 dod d5d &, @Y TF a7
@l Tget 8] gear # wEar AR d@

| AWO-TPO 2022 S1, 28 Oct 2022| 6



2).The solution of the following system
‘ b=0, &=] I of equations:

2(ax — by)+a+4b =0,
2% y|=0 = x== 2(bx+ay)+b—4a=0, is also
the solution of the equation:

fRw arv gAlFTo & AP
_u = r . 2(ax —by)+a+4b =0,

23‘ U\-o 73;2 2(bx+ay)+b—4a=0 ST  @d,
frafaf@a & 9 fra gfieor &1 o
gl 82 -2+6
a)3x—2y=5 Jf4x+3y=4
c)2x—-3y=6 d)3x + 4y =159
~ -6

| | 7
AWO-TPO 2022 S2, 27 Oct 2022



» Graphical Representation
of linear equations

« Number of solutions




Graphical representation:




Graph of linear equation in 2 variables:




Graph of linear equation in 3 variables: P




Solution of Linear equations in 3 variables:

t+7>3+‘42:—o
37(»31&2_; 0




No. o Solwhome (lin eqn in_ 2 vasiahbh
0.

é(/ 0, % b y+¢, =0~ fine
X

qZ_x'FbZ‘J *CL_—“- O ——DLM

' oL
Gt mudivg (9 ou

. Conddedal (WIT?T) \V\—]—iv%‘te
et é/ P Ve Q%IW‘?*U NO o,
CHRT

|



Poarallal
Ceinyidedal

0{4'5 e /7‘51»1 0ﬂ°7""’7
Uld)

15



No. of solutions concept:

f\ 1T

| | 16



Ax+ By + ¢, =0 | No. of solutions concept:
A2x+Bzy+Cz =N )

Cokn'gted poar %

(g Zan)|oving

17



|. The set of equations 4x — 6y = 18 and 10x — 15y = 45 has:
FHIFION 4x — 6y = 18 3R 10x — 15y = 45 F Faa g 872
a) No solution b) One solution
c) Two solutions M/Iore than two solutions




2.The lines whose equations are 2x —5y+7 =0 and 8x—-20y+28=0
intersect each other how many times?

@Y foed @HAFIor 20 — 5y +7 = 0 3K 8x — 20y + 28 =0 F, 'F W

I el IR gfaafed s 82
a) Not even once b) One
ﬂ’fnfinite d) Can’t say
\
2 _ws !
Z’ E-

1

s
2o 2%
1

D —_—



3. The value of ‘a’ so that the linesx + 3y —8 =10
and ax + 12y + 5 = 0 are parallel:
a ®1 9§ AW IqBt G QT @ x+
3y—8=0 3R ax+12y+5=0 HAEAR

gl

a) 0 b) 1 % d) -4

J_2 1=
\.7<--(L (2.73 S




y. If the set of equations 6x + 8y = 24and9x + 12y = kis
consistent, then k =?
3R AN 6x + 8y = 24and9x + 12y = kFT JIH I 8

ar k =?
a)k=12 b)k=16 c)k=24 ,m/k=36

\—iw—x

21



5. If the set of equations x + py = 18 and 4x + 12y = 30 has
unique solution, then which of the following must be true?

IR FAFION x +py =18 3N 4x+ 12y =30 FT THF  gT & A
AT F ¥ F1 39T wE 872

>< a)p=3 ﬁpvﬂ
c)p =48 d)p # 48

D 2



6. The value of ‘@’ so that the lines x + 3y — 8 = 0 and
ax + 12y — 32 = 0 are parallel:
aﬂﬂ%‘ﬂﬁﬁﬁ*ﬁ'm TEI'I"E"x+3y—8=O3ﬁT
ax + 12y — 32 = 0 FAWT &

a)o b) 1 c)a Not possible

| [

7 -
a—%#é
L—\b’_)
Net paagsy o




7. What is the sum of the value of p and q for
which the system of equations 2x + 3y = 7;
/ p+x+2p—qy=21 has _infinite
2_ 2 _ Z number of solutions? Carnadent
"?‘C_""" - p 3T g & 3T A F1 7T AT HfST,

Prq  2p-9 2 Gy fe  wleol 2xi3y=7,
%(.yp+q)x+(2p @y =21 & IIRAT g

?
a) 5 b) 7 /% d) 4

| ICAR 5 Mar 2022, S3 |l4



8. The system of equations: 2x + 3y =

7 and (a—b)x+ (a+ b)y =3a+
b—2 have ,infinitely many
Q_.b [,-b ] 34+b-2 solutions: ng\;)ud.o”\"' .
gl mﬁwag
A 2 +3 7
2a+2b=3a-3b ”]0+?>b~6=7a+7b (a—b)x+(c;:+b§,y=3a+b—2
& g
5%___0\ o?Q Ub-tm 0 %lmawﬁmmaﬁ
=] (s-@ Nfa=5b=3 Ma=2b=3
cJa=2,b=1 a=5b=1

S <q ﬁb:/éq

| | 2
_ AWO-TPO 2022 52, 28 Oct 2022 5



NV
X

q. Let there be three simultaneous

linear equations in(two unknowns,

whi%} are , non-parallel\and non-
ggflinear. What can be the)number

of solutions ? 2 veosmaple

5

a) One or infinite
b) only one

One or three
d) Exactly three

| | 26
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